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Class – X 

Biology (How do Organism Reproduce) 

Multiple Choice Questions (बहुविकल् पीय प्रश् न) 

Q.1) Which of the following part is most appropriate for vegetative propagation in plants:  

  (A) Stem  (B) Leaf (C) Root (D) Propagule (bud) 

  पौधों में काययक प्रिधधन के यिए कौन-सा भाग अयधक अनुकूि है-   

  (ए) तना (बी) पत्ती (सी) जड़ (डी) प्रकयिका 

Q.2) The number of chromosomes in a zygote is:  

  जाइगोट में गुणसूत्रों की संख् या होती है-  

  (A) 4 X (B) 3 X (C) 2 X (D) X 

Q.3) Which part of the flower is converted into fruit after fertilization: 

  (A) Stamen (B) Style (C) Ovary (D) Ovule 

  यनषेचन के बाद पुष् प का कौन-सा भाग फि में बदि जाता है-  

  (ए) पुंकेसर (बी) ियतधका (सी) अण् डाशय (डी) बीजाण् ड  

Q.4) The transfer of pollen grains from anthers to stigma is called:  

  (A) Pollination (B) Ovulation (C) Fertilization (D) None of these 

  परागकणों का परागकोश से ियतधकाग्र तक स् थानान् तरण कहिाता है- 

  (ए) परागण (बी) अण् डोत् सगध (सी) यनषेचन (डी) इनमें से कोई नहीं  

Q.5) Double fertilization is a characteristic of:  

  (A) Animals (B) Angiospersms (C) Gymnosperms (D) Algae 

  द्वियनषेचन विशेष िक्षण है- 

  (ए) जन् तुओं का  (बी) आिृतबीजी पादपों का  

  (सी) अनािृतबीजी पादपों का (डी) शैिािों का  

Q.6) The middle part of carpel of a flower is called:  

  (A) stigma (B) style (C) ovary (D) ovule 
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  एक पुष् प के स्त्रीकेसर के मध् य भाग को क् या कहते हैं - 

  (ए) ियतधकाग्र (बी) ियतधका (सी) अण् डाशय (डी) बीजाण् ड  

Q.7) Through what structure does the pollen tube formed by a pollen enter the ovule for 

fertilization:  

  (A) Integument (B) Nucellus (C) Chalaza (D) Micropyle 

  यनषेचन के दौरान परागकण से यनकिने िािी पराग नयिका सामान् यत: द्वकसके िारा बीजाण् ड में 

प्रिेश करत है- 

  (ए) अध् यािरण (बी) बीजाण् डकाय (सी) यनभागी (डी) अण् डिार  

Q.8) Budding is found in:  

  (A) Planaria (B) Hydra (C) Leishmania (D) all of these 

  मुकुिन पाया जाता है-  

  (ए) प् िैनेररया में (बी) हाइड्रा (सी) िीस् मायनया में (डी) इन सभी में  

Q.9) How many important parts are there in a flower:  

  (A) Three (B) Four (C) Five (D) Six 

  पुष् प के द्वकतने भाग होते हैं - 

  (ए) तीन (बी) चार (सी) प चं (डी) छ:  

Q.10) The number of male gemetes in a pollen tube is:  

  (A) One (B) Two (C) Three (D) Four 

  पराग नयिका में नर युग् मक की संख् या होती है- 

  (ए) एक (बी) दो (सी) तीन (डी) चार  

Q.11) The permanent contraceptive method is:  

  (A) contraceptive pill  (B) use of condom (B) vasectomy (D) abortion 

  पररिार यनयोजन की स् थायी वियध है-  

  (ए) गभध यनरोधक गोयिय ं (बी) यनरोध का प्रयोग  

  (सी) िैसेक्टोमी  (डी) गभधसमापन (गभधपात)  

Q.12) A sexual reproduction takes place through budding in:  

  (A) Amoeba (B) Yeast  (C) Plasmodium (D) Leishmania 
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  अिैंयगक जनन मुकुिन िारा होता है-  

  (ए) अमीबा (बी) यीस् ट (सी) प् िाज् मोद्वडयम (डी) िीस् मायनया  

Q.13) Which of the following is not a part of the female reproductive system in human beings:  

  (A) Ovary (B) Uterus (C) Vas deferens (D) Fallopian tube 

  यनम् न में से कौन मानि के मादा जनन तन् त्र का भाग नहीं है-  

  (ए) अण् डाशय (बी) गभाधशय (सी) शुक्रिाद्वहका (डी) द्वडम् बिाद्वहनी  

Q.14) The sex chromosome in male is:  

  पुरूष में यिंग गुणसूत्र होता है- 

  (A) XY (B) XX (C) X (D) Y 

Q.15) Which among the following diseases is not sexually transmitted?  

  (A) Syphilis (B) Hepatitis (C) HIV-AIDS (D) Gonorrhoea 

  यनम् नयिखित में कौन-सा रोग यौन संचाररत नहीं होता- 

  (ए) यसफयिस (आतशक) (बी) हेपैटाइद्वटस  

  (सी) एच0आई0िी0 (एड्स) (डी) गोनोररया (सूजाक)  

Q.16) It is in pollen sac/anther:  

  (A) calyx (B) ovary (C) carpel (D) pollen grain 

  परागकोश में होते हैं -  

  (ए) बाह्य दि (बी) अण् डाशय (सी) अण् डप (डी) परागकण  

Very Short Answer Type Questions (अयत िघु उत्तरीय प्रश् न) 

 

Q.) Write the difference between inbreeding and external  fertilization. 

  अंतप्रधजनन और बाह्य यनषेचन में अंतर यिखिए।  

Ans.) When fertilization takes place inside the body, it is called in -fertilization; As in birds and 

mammals. When fertilization takes place outside the  body in water, it is called external 

fertilization; For example, in fish and amphibians (in frog).  
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  जब यनषेचन द्वक्रया शरीर के अन्दर होती है तो इसे अन्तः यनषेचन कहते हैं ; जैसे-पखक्षयों और 

स्तयनयों में। जब यनषेचन द्वक्रया शरीर से बाहर जि में सम्पन्न होती है तो इसे बाह्य यनषेचन 

कहते हैं ; जैसे-मछिी ि उभयचरों में (मेढक में)। 

Q.2) Differentiate between androecium and gynoecium.  

  पुमंग तथा जायांग में अन् तर यिखिए।  

Ans.) The male part (stamens) of a flower are collectively known as androecium. Stamens produce 

pollen grains in their anther part.  

  The female part of a flower is collectively called gynoecium. It is made of one or more 

carpels. Ovules are formed in ovary par t of carpel. 

  एक फूि के नर भाग (पुंकेसर) को सामूद्वहक रूप से एंड्रोइद्वकयम के रूप में जाना जाता है। 

पुंकेसर अपने परागकोष में परागकण उत्पन्न करते हैं।  

  फूि के मादा भाग को सामूद्वहक रूप से गाइनोइद्वकयम कहा जाता है। यह एक या एक से अयधक 

कापेि से बना होता है। अंडाणु कापेि के अंडाशय भाग में बनते हैं।  

Q.3) Name the permanent contraceptive methods adopted for family welfare.  

  पररिार कल्याण के यिए अपनाई गई स्थायी गभधयनरोधक वियधयों के नाम यिखिए। 

Ans.) Vasectomy of males and tubectomy for females.  

  पुरुषों की नसबंदी और मद्वहिाओं के यिए ट्यूबेक्ट मी (नसबंदी)।   

Q.4) Why is DNA copying an essential part of the process of reproduction?  

  डीएनए प्रयतयिवप बनाना प्रजनन की प्रद्वक्रया का एक अयनिायध द्वहस्सा क्यों है? 

Ans.) DNA stores information about all the characteristics of an organism. In the Process of 

reproduction new individuals of the same body design and blue print types are produced.  

  The blue print of all the characteristics is transmitted to the next generation in the form of 

DNA only. Therefore, copying or replication of the DNA is required before reproduction so 

that the blue print of information can be provided to the new generation. It i s essential for 

maintaining the integrity of the species.  

  डीएनए एक जीि की सभी विशेषताओं के बारे में जानकारी संग्रहीत करता है। प्रजनन की प्रद्वक्रया 

में एक ही शरीर के द्वडजाइन और ब्िू वप्रंट प्रकार के नए व्यवि तैयार द्वकए जाते हैं।  
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  सभी विशेषताओं का ब्िू वप्रंट अगिी पीढी को केिि डीएनए के रूप में प्रेवषत द्वकया जाता है । 

इसयिए, प्रजनन से पहिे डीएनए की प्रयतयिवप या प्रयतकृयत की आिश्यकता होती है ताद्वक नई 

पीढी को जानकारी का ब्िू वप्रंट प्रदान द्वकया जा सके। यह प्रजायतयों की अिंडता को बनाए रिने 

के यिए आिश्यक है।  

Q.5) Explain fission and fragmentation methods of reproduction o f organisms with 

examples.  

  जीिों के प्रजनन की वििंडन एिं वििंडन वियधयों को उदाहरण सद्वहत समझाइए।  

Ans.) Fission:  It is an important method of reproduction in unicellular organism. Bacteria, 

protozoan protist such as Amoeba, Paramecium, Euglena, Leishmania  etc. use the method 

of fission for reproduction. Binary fission is the simplest method of asexual reproduction i n 

which a unicellular organism, undergoes division to form two individuals. In bacteria and 

many protozoan protists, asexual reproduction occur s through binary fission.  

  Fragmentation:  It is a made of asexual reproduction in which the body of a multicellu lar 

organism like filamentous algae or fungi breaks up into many fragments upon maturation 

which grow up into new individuals. The breaking of organisms into fragments is a natural 

process and is carried out when organism attains maturity.  

  वििण्डन (Fission)-इसमें एककोयशकीय जीि असूत्री विभाजन िारा विभाखजत होकर दो संतयत 

जीिों का यनमाधण करते हैं। इसमें पहिे केन्रक विभाखजत होता है द्वफर कोशारव्य  का बँटिारा 

होता है जैसे अमीबा , जीिाणु आद्वद में। िण्डन का ति अयनययमत , अनुप्रस्थ या िम्बित ् हो 

सकता है। 

  िण्डन (Fragmentation)-सरि तन्तुरूपी जीिों जैसे शैिाि , किक के पररपक्ि तन्तु अनेक भागों 

में टूट जाते हैं । प्रत्येक टुकड़ा संतयत तन्तंु का यनमाधण करता है; जैसे-स्पाइरोगाइरा में। 

Q.6) By which organs sexual reproduction in flowering plants occur? What are unisexual and bisexual 

flowers? Explain with examples.  

OR Differentiate between unisexual and bisexual flowers and give one example of each.  

  पुष्पीय पौधों में िैंयगक जनन द्वकन अंगों िारा होता है? एकयिंगी तथा उभययिंगी पुष्प क्या हैं ? 

उदाहरण सद्वहत बताइए।  

अथिा एकयिंगी तथा उभययिंगी पुष्य में अन्तर बताइए तथा दोनों का एक-एक उदाहरण भी दीखजए।  
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Ans.) In flowering plants, the male reproductive part is called stamen and the female part is called carpel. If a 

flower has both male and female parts then it is called bisexual. A flower bearing only one type of 

reproductive part is called unisexual. In a unisexual flower, if only stamens are present it is called male or 

staminate flower and if only pistils are present it is called female or pistillate flower. Guard, papaya etc. 

are unisexual flowering plants while mustard, pea etc. are bisexual flowering plants.  

  The male and female flowers may be present on the same plant as in maize or cucurbits or they may be 

borne by different plants as in papaya. 

  (i) पुष्पीय पौधों में नर जननांग पंकेसर तथा मादा जननांग अण्डप होते हैं। 

  (ii) एकयिंगी पुष्पों में केिि नर या केिि मादा जननांग पाए जाते हैं अथाधत ्नर पुष्प तथा मादा पुष्प 

पथृक्-पथृक् होते हैं। जैसे-िौकी, तोरई, पपीता आद्वद। नर ि मादा पुष्प एक ही पौधे पर खस्थत हो सकते 

हैं। जैसे-मक्का में अथिा अिग-अिग पौधों पर हो सकते हैं; जैसे-पपीता में। 

  (iii) उभययिंगी पुष्पों में नर तथा मादा दोनों प्रकार के जननांग पाए जाते हैं; जसैे—सरसों, गुड़हि, मटर 

आद्वद। 

Q.7) What is a clone? Why do off springs formed by asexual reproduction exhibit remarkable similarity?  

  क्िोन से आप क्या समझते हैं? अिैंयगक जनन िारा उत्पन्न संतयतयों में असाधारण समानता क्यों पायी 

जाती है? 

Ans.) Asexually produced individuals of a parent are known as clones. Clones are morphologically and 

genetically identical to themselves and to their parents. As they share exactly the same genetic material, 

they exhibit remarkable similarities. 

  आनुिंयशक रूप से पूणधत: समान जीि क्िोन (clone) कहिाते हैं। अिैयगक जनन िारा उत्पन्न संतयतयाँ 

आपस में ि जनक की क्िोन होती हैं। संतयतयों में अपने जनक DNA की यथाित ्प्रयतयिवपयाँ पाए जाने 

के कारण जनक से अत्ययधक समानताएँ पायी जाती हैं। 

Q.8) In tobacco plant, the male gametes have twenty four chromosomes each. What is the number of 

chromosomes, in the female gamete? What is the number of chromosomes in the zygote?  

  तम्बाकू के पौधे में नर युग्मक में 24 गुणसूत्र होते हैं। मादा युग्मक में गुणसूत्रों की संख्या द्वकतनी होगी? 

युग्मनज में गुणसूत्रों की सखं्या द्वकतनी होगी? 

Ans.) Gametes are always haploid, therefore, the number of chromosomes in female gamete will also be 24. 

Zygote is formed by fusion of gametes therefore, the number of chromosomes will bd 48. 
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  तम्बाकू के नर तथा मादा युग्मकों में गुणसूत्रों की संख्या 24 और युग्मनज (zygote) में गुणसतू्रों की संख्या 

48 होगी। 

Q.9) Draw a labelled diagram of the L.S. of a Flower. 

  पुष् प की अनुदैर्घ यध काट का नामांद्वकत यचत्र बनाइए।  

Ans.) पुष् प की अनुदैर्घ यध काट का यचत्र यनम् न ्है-  

  

 

Q.10) What do you mean by regeneration? Explain it with the help of an example.  

  पुनरुद्भिन का क्या तात्पयध है? पुनरुदभिन को एक उदाहरण से स्पष्ट कीखजए। 

Ans.) In many organisms a new organism develops from a cut or damaged parts of the organism. This process 

of development of new organism from cut parts is called regeneration. If the body of some invertebrate 

animals like Hydra or Planaria is cut into several pieces, then each piece develops into a new organism. 

Regeneration is not regarded as a method of reproduction. 

  अनेक प्राखणयों में काययक शरीर के क्षयतग्रस्त हो जाने पर जीिधारी के क्षत (कटे) भागों से नए जीि का 

यनमाधण हो जाता है। इसे पुनरुद्भिन (regeneration) कहते हैं। अकशेरुकी जीि जसैे हाइड्रा ि प्िैनेररया 

(Planaria) को यद्वद अनेक टुकड़ों में काट द्वदया जाए तब प्रत्येक टुकड़ा विकयसत होकर पूणध जीि का 

यनमाधण कर देता है। पुनरुद्भिन को जनन का पयाधय नहीं माना जाता। 

Q.11) Mention functions of human testes.  

  मानि के िषृण के कायों का उल्िेि कीखजए। 

Ans.)  Functions of Testes:  

  (i) Testes are the primary male reproductive organs, hence their main function is to produce male gamete 

or sperms.  
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  (ii) Testes act as an endocrine gland also. Its Leydig's cells produce testosterone or male sex hormone. 

This hormone is responsible for the development of secondary sexual characters in boys and production 

of sperms. 

  िषण के कायध (Function of Testes)-(i) िषृण प्राथयमक नर जनन अंग (primary male reproductive organ) 

है। इसका प्रमुि कायध नर युग्मकों (शुक्राणु) का यनमाधण है। ___(ii) िषृण,एक अन्तःसािी ग्रखन्थ (endocrine 

gland) के रूप में भी कायध करता है। इसकी िेद्वडग कोयशकाएँ टेस्टोस्टेर न (testosterone) का यनमाधण करती 

हैं। यह पुरुषों में द्वितीयक िैंयगक िक्षणों (secondary sexual characters) के विकास ि शुक्राणुओं के यनमाधण 

में सहायक होता है। 

Short Answer Type Questions (िघु उत्तरीय प्रश् न) 

 

Q.1) What is the significance of vegetative propagation? Mention its merits and demerits.  

OR What is vegetative propagation? State the significance of vegetation propagation in plants.  

  काययक जनन का क्या महत्त्ि है? इसके िाभ तथा हायनयाँ यिखिए।  

अथिा काययक जनन द्वकसे कहते हैं? पौधों में काययक जनन के महत्त्ि का उल्िेि कीखजए। 

Ans.) Vegetative Propagation: Production of new plants from any vegetative part (root, stem or leaves) of the 

plant is known as vegetative propagation (vegetative reproduction). The part or bud of the plant from 

which new plant develops is called propagule. This propagation may be natural or artificial. 

  Significance or merits of vegetative propagation:  

  (i) Large number of plants can be produced in very short duration of time.  

  (ii) The parental characteristics are preserved, so the qualities of parents can be retained as there are no 

variations.  

  (iii) Plants which have lost the capacity of sexual reproduction or produce non-viable seeds can be grown 

by this method.  

  (iv) Qualities of two plants can be combined in methods like grafting.  

  Disadvantage:  

  (i) No new variation or Characteristics develop by this method therefore, there are no chances of evolution.  

  (ii) It leads to overcrowding of plants, hence the competition of resources increases. Vigour of plant is 

lost. 
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  काययक जनन (Vegetative Reproduction)-पौधों के िषी भागों जैसे जड़, तना, पवत्तयों पर उपखस्थत कयिकाओं 

िारा नए पादप का यनमाधण िधी प्रजनन या काययक जनन कहिाता है। यह अिैंयगक जनन का ही एक 

रूप है; जैस-ेआिू, गुिाब, शकरकन्द, ब्रायोद्वफल्िम आद्वद। 

  काययक जनन का महत्त्ि:  

  िाभ-काययक जनन से यनम्नयिखित िाभ हैं 

  (1) नये पौधे कम समय में उत्पन्न हो जाते हैं। 

  (2) मात ृपौधे के िांयछत गुणों को पीढी दर पीढी बनाए रिा जा सकता है। इनमें वियभन्नताएं नहीं आतीं। 

  (3) ऐसे पौधे, खजनमें िैंयगक जनन की क्षमता समाप्त हो गयी है या जो अक्षम बीज (Non-viable seeds) 

उत्पन्न करते हैं, का प्रजनन इसी वियध से होता है। 

  (4) ऊतक संिधधन िारा िषध के द्वकसी भी समय बड़ी संख्या में पौधे तैयार द्वकए जा सकते हैं। 

  हायनयाँ-काययक जनन से यनम्नयिखित हायनयाँ है 

  (1) इस प्रकार के जनन से पौधों में वियभन्नताएं विकयसत नहीं होतीं। 

  (2) नये पौधों के मात पौधे के आस-पास उगने स ेभूयम, जि, ियनज, प्रकाश, िाय ुआद्वद के यिए पौधों में 

जीिन-संघषध बढ जाता है। 

  (3) काययक जनन से पौधों की प्रजनन शवि कम हो जाती है।  

  (4) नई जायतयाँ विकयसत नहीं होती। 

Q.2) Define pollination. Name different types of pollination and describe any one of them.  

OR What are pollen grains? Where are they found? Name different types of pollinations.  

  परागण की पररभाषा यिखिए। वियभन्न प्रकार के परागण का नाम यिखिए तथा द्वकसी एक का िणधन 

कीखजए।  

अथिा परागण क्या हैं? ये कहाँ पाए जाते हैं? वियभन्न प्रकार के परागण का उल्िेि कीखजए। 

Ans.) Pollination: Transfer of pollen grains from the anther ok a flower to the stigma of the same flower or any 

other flower of the same species is called pollination. There are two main types of pollination:  

(A) Self pollination (B) Cross pollination. 
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  (A) Self Pollination: When the pollen grains of a flower are transferred to the stigma of the same flower 

or stigma of another flower borne by the same plant, it is called self pollination. (between two flowers 

having same genetic constitution.) Example: Commelina, Pea, ground nut, Impatiens, etc.  

  (B) Cross Pollination: When pollen grains of a flower are transferred to the stigma of a flower borne by 

another plant of the same species the pollination is called cross pollination. Example: Salvia, primrose, 

mustard, etc.  

  Cross pollination is facilitated by wind, water and insects, birds and animals. Generally cross pollination 

is considered better because it leads to variations, which form the basis of organic evolution.  

  Pollen Grains: The haploid microspores produced in the anthers of stamen of flowers by reduction division 

are called pollen grains. The male gametes are produced .in pollen grains. The pollen grains are transferred 

to stigma during pollination. They help in transfer of male gamete. 

  परागण-एक पुष्प के परागकण जब उसी जायत के पुष्प के ियतधकान पर पहंुचते है तो इस द्वक्रया को 

परागण (Pollination) कहते हैं। परागण दो प्रकार से होता है 1. स्िपरागण 2. परपरागण। 

  1. स्िपरागण (Self-pollination)-जब एक पुष्प के परागकण उसी पुष्प के ियतधकान पर या उसी पौधे के 

अन्य पुष्प के ियतधकान पर पहंुचते हैं तो इसे स्िपरागण कहते हैं। द्वियिंगी पुष्पों में स्िपरागण या 

परपरागण हो सकता है। उदाहरण-कनकौआ (Com.melina), गुिमेंहदी (Impatiens), बनफसा (Viola), 

मूंगफिी (Arachis), िट्टी-बटूी (Oxalis) आद्वद। 

  2. परपरागण (Cross-pollination)-जब द्वकसी पुष्प से परागकण (pollen grains) उसी प्रजायत के द्वकसी 

अन्य पादप पर खस्थत पुष्प के ियतधकान तक पहंुचते हैं तो इसे परपरागण कहते हैं। प्रकृयत में सामान्यतः 

परपरागण ही पाया जाता है क्योद्वक इसके कारण जायत का विकास होता है। यह कीट, िायु, जि, पक्षी, 

जन्तु आद्वद माध्यमों से होता है। उदाहरण-साखल्िया (Salvia), अंजीर, वप्रमरोज, ियैिसनेररया। 

  परागकण (Pollen grains)-पुष्पी पादपों के पुंकेसरों के परागकोष (anthers) में अर्द्धसतू्री विभाजन के फिस्िरूप 

बने अगुखणत िघुबीजाणु परागकण कहिाते हैं। परागकणों में नर युग्मक (male gamete) का विकास होता 

है। परागण की द्वक्रया में परागकणों का परागकोष से ियतधकान तक स्थानान्तरण होता है। 

Q.3) Write about merits and demerits of cross pollination.  

  पर परागण के गुण और दोषों के बारे में यिखिए। 

Ans.) Pollination and its types: Transfer of pollen grains from the anther of a flower to the stigma of the same 

flower or any other flower of the same species is called pollination.  
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  These are two main types of pollination: (A) Self pollination (B) Cross pollination.  

  Significance/ Advantages of cross pollination: 

  (i) Seeds or progeny shows hybrid vigour and are healthy.  

  (ii) It leads to more variations. Variations are foundation of organic evolution. They increase chances of 

survival also.  

  (iii) It is useful in breeding experiment to develop new high yielding and disease resistant varieties. 

Demerits of cross pollination: 

  (i) It leads to more wastage of pollen grains.  

  (ii) Plant remains dependent on pollinators/agents of pollination.  

  (iii) Plants have to spend lots of energy and resources in developing fragrance, nectar, large showy flower, 

colour, etc., needed to attract pollinators.  

  (iv) Parental characters can-not be retained. 

  परागण तथा इसके प्रकार-एक पुष्प के परागकण जब उसी जायत के पुष्प के ियतधकान पर पहंुचते हैं तो 

इस द्वक्रया को परागण (Pollination) कहते हैं। परागण दो प्रकार से होता है 

  1. स्िपरागण 2. परपरागण। परपरागण से िाभ (महत्त्ि)-परपरागण से यनम्नयिखित िाभ हैं 

  (1) इससे उन्नतशीि प्रजायतयाँ विकयसत होती हैं। यह जैि विकास का आधार है। 

  (2) वियभन्नताओं के कारण उच्च गुण िािे स्िस्थ बीज प्राप्त होते हैं जो संकर ओज को प्रदयशधत करते हैं। 

  (3) पादप प्रजनन में परपरागण के फिस्िरूप उच्च उत्पादक ि रोगप्रयतरोधी प्रजायतया ँविकयसत होती हैं। 

इनकी प्रयतरोधक क्षमता अयधक होती है। 

  (4) परपरागण िारा उत्पन्न जननक्षम पौधे विकयसत होते हैं। परपरागण से हायनयाँ-परपरागण से 

यनम्नयिखित हायनयाँ : 

  (1) पौधों को मकरन्द, रंग, सुगन्ध आद्वद पर अयधक ऊजाध ि संसाधन व्यय करना होता है। 

  (2) परागकण अयधक संख्या में बनते हैं और व्यथध होते हैं। 

  (3) परपरागण के यिए वियभन्न युवियों (साधनों) पर यनभधर रहना होता है-जैसे कीट, िायु, जि, पक्षी, जन्तु, 

मनुष्य आद्वद। 

  (4) परपरागण के फिस्िरूप प्रजायत के पैतकृ िक्षणों में यभन्नता आ जाती है। 
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Q.4) How do seedless plants which do not produce seeds reproduce? Give examples also.  

  बीजरद्वहत पौधों में जनन द्वकस वियध िारा होता है? उदाहरण भी दीखजए। 

Ans.) The plants which do not produce seeds (seedless plants) reproduce by vegetative reproduction.  

  (i) In this method new plants develop from the vegetative parts (root, stem or leaves) of plant.  

  (ii) Vegetative-propagation by roots is shown by sweet potato Asparagus, Dahlia, etc.  

  (iii) Vegetative reproduction by stem is shown by potato, ginger, turmeric, onion, etc. 

  (iv) Vegetative propagation by leaves is exhibited by Bryophyllum.  

  Lower plants like algae reproduce by fragmentation and spore formation. 

  ऐसे पुष्पी पादप जो बीज यनमाधण में असमथध होते हैं, में काययक जनन पाया जाता है। 

  पौधों के िधी भागों जैसे जड़, तना, पवत्तयों पर उपखस्थत कयिकाओं िारा नए पादप का यनमाधण िषी प्रजनन 

या काययक जनन कहिाता है। उदाहरण-आिू, गुिाब आद्वद में काययक जनन पाया जाता है। 

Q.5) Mention any four differences between asexual and sexual reproduction. 

  अिैंयगक तथा िैंयगक जनन में चार अन्तर बताइए। 

Ans.) Differences between asexual and sexual reproduction 

  अिैंयगक तथा िैंयगक जनन में अन्तर 

   

Sr. No. Asexual Reproduction Sexual Reproduction 

1. Only one parent is required for asexual 

reproduction. 

Normally two parents are needed (a few  

bisexual organisms are exception). 

2. Formation and fusion of gametes are not 

there. 

Formation and fusion of gametes is a 

characteristic feature of sexual 

reproduction. 

3. Involves mitosis only. Mitosis are well as meiosis (reproduction 

division) are required. 

4. Newly produced organisms are clone 

(identical to parents). No variations are 

produced. 

Offspring differ among themselves as 

well as from parents, variation are 

created, help in evolution. 
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क्र.सं. अिैंयगक जनन िैंयगक जनन  

1. एक ही जनन िारा सन् तान की उत् पवत्त 

होती है। 

सन् तान की उत् पवत्त के यिए प्राय: दो 

जनकों का होना आिश् यक है। 

2. समसतू्री कोयशका विभाजन होता है। अध् ्सूत्री विभाजन होता है।  

3. यनषेचन नही ंहोता है। यनषेचन होता है। 

4. सन् तान पूणधतया जनके के समान होती 

है। 

सन् तान दोनों जनकों से यभन् न होती है।  

  

Q.6) If the silk (long, thread like, shining styles) of the cob of corn are cut then seeds are not formed. 

Explain.  

  एक भुट्टे के शंकु से यनकिने िािी चमकीिी िम्बी ियतधकाएँ यद्वद प्रारम्भ से ही सब काट दी जाए ँतो 

उस पौधे में दाने क्यों नहीं बनते? स्पष्ट कीखजए। 

Ans.) Maize or corn plant is monoecious. It bears male as well as female flowers. The young cob of maize 

represents an inflorescence. This spadix inflorocence is covered by green leafy spathe. The silk of corn 

are actually stigma and styles of flowers which are exposed to trap air borne pollens. They help in carrying 

male gametes present in pollen tubes to the ovule. When these styles are cut then seeds do not develop, as 

the fertilization is blocked. All events of sexual reproduction like formation of gametes, transfer of pollen 

grains, transfer of male gametes upto the egg by pollen tube and fertilization are essential for formation 

of seeds. 

  भुट्टे का शंकु िास्ति में पुष्पों का एक समूह स्पैद्वडक्स (spadix) है। पुष्प चारों ओर से स्पेथ नामक 

आिरण से यघरे रहते हैं। पुष्पों की ियतधकाएँ िम्बी ि रोमि होती हैं। इनके स्ितन्त्र छोर पर खस्थत 

ियतधकान परागकणों को ग्रहण करते हैं। परागण िायु िारा होता है। परागकण अंकररत होकर पराग नयिका 

बनाते हैं। पराग नयिकाएँ ियतधका से होती हुई बीजाण्ड तक पहँुचती है. इसके फिस्िरूप यनषेचन होता है। 

यनषेचन के कारण अण्डाशय में खस्थत बीजाण्ड से दाने (grain) बनते हैं। ियतधकाओं को प्रारम्भ में ही काट 

देने से यनषेचन न होने के कारण पौधे में दाने नहीं बनते। 
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Q.7) Write a note on asexual reproduction in plants and organisms.  

  पौधों में अिैंयगक जनन पर द्वटप्पणी यिखिए। 

Ans.) Asexual Reproduction in Plants: Only one parent takes part in asexual reproduction. The plant produced 

by asexual reproduction are clone to this parent. It means the newly developed plants are morphologically 

and genetically identical to themselves and to their parent. Higher plants or angiosperms reproduce 

asexually by vegetative propagation.  

  Production of new plants from any vegetative part (root, stem or leaves) of the plant is known as vegetative 

propagation (vegetative reproduction). The part or bud of the plant from which new plant develops is 

called propagule. This propagation may be natural or artificial.  

  Asexual Reproduction in other organisms: Asexual reproduction is shown by monerans (bacteria), 

protists, fungi, lower animals and lower plants like algae also. This may be of following types :  

  (a) Fragmentation: At maturity the filament of algae or hyphae of fungi breaks into two or more pieces 

naturally. Each part develops into new algae/fungi. Spirogyra, Rhizopus  

  (b) Binary fission: Cell divides into two equal parts during favourable conditions. Amoeba and bacterja. 

Multiple fission is shown by Plasmodium.  

  (c) Budding: A small out growth or protruberance develop from yeast cell. It grows and ultimately gets 

detached from the parent cell.  

  (d) Spore Formation: Many organisms like fungi, bryophytes, pteridophytes reproduce by spore 

formation. Spores are small structures which be carried by wind or water. In Rhizopus spores are produced 

in sporangia. In Penicillium these spore-like reproductive structures are called conidia. They develop 

exogenously. In algae and aquatic fungi motile spores (zoo spores) are produced. 

  पौधों में अिैंयगक जनन (Asexual reproduction in plants)-इस प्रद्वक्रया में एक ही पादप भाग िेता है। 

संतयत का आनुिंयशक संगठन जनक पादप के समान होता है। संतयत पादप सामान्यतया आकाररकीय एिं 

आनुिंयशक िक्षणों में समान अथाधत ्क्िोन होते हैं। अिैयगक जनन सामान्यतया यनम्न प्रकार से होता है 

  (क) िण्डन (Fragmentation)-यनम्न िगीय पादपों-शैिाि के तन्तु वियभन्न कारणों से दो या अयधक भागों 

में टूट जाते हैं। प्रत्येक भाग िवृर्द् करके पूणध तन्तु बना िेता है; जैसे-स्पाइरोगाइरा आद्वद में। 

  (ि)बीजाणुजनन (Sporulation)-शैिाि, बायोफाइटा, टेररडोफाइटा में बीजाणुजनन िारा वियभन्न प्रकार के 

बीजाणुओं का यनमाधण होता है। बीजाणुओं का प्रकीणधन जि या िायु िारा होता है। 
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  (ग) काययक प्रजनन (Vegetative Propagation)-पौधों में अिैंयगक जनन प्रमुितः काययक प्रजनन वियध से 

होता है। आिू, गुिाब आद्वद में जनन काययक िारा होता है। 

Q.8) Draw a neat labelled diagram of vertical section of an ovule. 

  बीजांड के ऊध्िाधधर िंड का एक स्िच्छ नामांद्वकत यचत्र बनाइए। 

Ans.) बीजांड के ऊध्िाधधर िंड का यचत्र। 

   

 

Q.9) How does binary fission differ from multiple fission? 

  परागण द्वक्रया यनषेचन से द्वकस प्रकार यभन् न है-  

Ans.) Difference between binary fission and multiple fission 

  परागण तथा यनषेचन में अन् तर-    

Sr. Binary Fission Multiple Fission 

1. As the name indicates the nucleus of the 

cell divides into  

two daughter nuclei. 

Nucleus of the cell divides into many 

nuclei 

2. Cytoplasm also divides simultaneously 

with division of the nucleus, generally 

by furrow formation 

Some cytoplasm gets accumulated 

around each nucleus. Some 

cytoplasm is left unused. 

3. Ultimately two daughter organisms are 

produced 

One organism produces many 

organisms 

4. Generally takes place during favourable 

conditions, e.g., Amoeba. 

Normally occurs in unfavourable 

conditions, e.g., Plasmodium. 
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क्र.सं. परागण यनषेचन 

1. परागकोश से पराग कणों के ियतधकाग्र पर 

पहँुचने की द्वक्रया परागण कहिाती है। 

नर तथा मादा युग् मकों के यमिने की 

प्रद्वक्रया को यनषेचन कहते हैं। 

2. परागण प्राय: कीट, िायु, जि, पक्षी आद्वद 

के माध् यम से होता है। 

उच् च पादपों में नर युग् मकों को मादा 

युग् मक तक िे जाने का कायध पराग 

नयिका करती है। 

3. यह द्वक्रया यनषेचन से पहिे होती है। यह द्वक्रया परागण के बाद होती है। 

 

  

Q.10) What are the changes seen in girls at the time of puberty?  

  यौिनारम्भ के समय बायिकाओ ंमें कौन-कौन से पररितधन द्वदिाई देते है? 

Ans.) Changes of Puberty in Girls  

  Secondary sexual characters start developing in girls at the onset of puberty. These changes normally start 

at the age of 11 — 14 years. Some important changes are:  

  (i) Breast size begins to increase and skin becomes oily.  

  (ii) There is broadening of hips and pelvic girdle.  

  (iii) Menstruation (monthly period) starts.  

  (iv) Darkening of the skin of the nipples. 

  (v) Deposition of fats in various part of the body. 

  यौिनारम्भ के समय बायिकाओं में यनम्न पररितधन (common changes) द्वदिाई देते हैं 

  (i) बगि ि जननांग क्षेत्र में बािों का उगना।  

  (ii) त्िचा का तैिीय (oily) होना ि कुछ में मुहासों का बनना।  

  (iii) बायिकाएं शरीर में होने िािे पररितधनों के प्रयत सजग हो जाती है। 

  बायिकाओं के द्वितीयक िैंयगक िक्षण– 

  (i) स्तनों की िवृर्द् ि विकास,  

  (ii) स्तनाग्र ि यनवपि क्षेत्र का गहरा होना,  

  (iii) ऋतुस्नाि या मायसक धमध (menstrual cycle) का प्रारम्भ होना,  
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  (iv) श्रोखण क्षेत्र ि यनतम्बों का चौड़ा होना।  

  (v) शरीर के वियभन्न भागों में िसा का जमाि।। 

Q.11) How does the embryo get nourishment inside the mother's body?  

  माँ के शरीर में भ्रूण पोषण कैसे प्राप्त करता है? 

Ans.) In all placental mammals including human being the embryo and foetus gets nutrition from the mother's 

blood with the help of Placenta. The placenta is a unique type of tissue formed by both foetal as well as 

maternal tissue. The maternal tissue is the uterus wall having blood spaces while the foetal tissue is in the 

form of villi. The villi increase the surface area for the exchange of materials. 

  मनुष्य सद्वहत सभी जरायुजी स्तनधारी जन्तुओं में भ्रूण (embryo) ि फीटस (foetus) माँ के रि से अपरा 

(Placenta) के माध्यम से पोषण प्राप्त करता है। अपरा एक वियशष्ट प्रकार का ऊतक है खजसका यनमाधण मा ँ

के ऊतकों तथा भ्रूण के ऊतकों दोनों िारा होता है। गभाधशयी यभवत्त खजसमें प्रचुर मात्रा में रि भरे स्थान 

होते हैं, माँ का ऊतक होता है जबद्वक भ्रूण के रसांकुर (villi) भ्रूणीय ऊतक के रूप में भाग िेकर अपरा 

बनाते हैं। अंगुिी जैसे प्रिधध रसांकुर पदाथों के वियनमय हेतु सतही क्षेत्र कई गुना बढा देते हैं। 

Q.12) In a bisexual flower inspite of the young stamens removed artificially, the mower produces fruit. 

Provide a suitable explanation for the above situation.  

  एक उभययिंगी पौधे में, नन्हें पुंकेसरों को कृवत्रम रूप से यनकाि द्वदए जाने पर भी फि उत्पन्न होते हैं। 

उपयुधि पररखस्थयत के यिए उपयुि व्याख्या प्रस्तुत कीखजए। 

Ans.) A bisexual flower has both stamens as well as carpels. The fruit develops from the female part or the 

carpel. Events needed for fruit formation are pollination and fertilization. If young stamens are removed 

the self pollination would be checked. The carpel is still present in flower. The stigma can be pollinated 

by cross pollination. It leads to fruit formation. 

  उभययिंगी पुष्पों में पुंकेसर तथा स्त्रीकेसर (अण्डप) दोनों पाए जाते हैं। पुंकेसरों को यनकाि देन े पर 

स्त्रीकेसर (अण्डप) यथाित ्बना रहता है। यही भाग फि यनमाधण हेतु उत्तरदायी होता है, अतः पुंकेसर को 

यनकाि देने का फि यनमाधण पर कोई प्रभाि नहीं होता। इसका ियतधकाग्र (stigma) द्वकसी अन्य पुष्प से 

परागकणों को ग्रहण करता है। परपरागण के फिस्िरूप अण्डाशय में खस्थत बीजाण्ड से यनषेचन के पश्चात ्

बीज बनता है, अण्डाशय फिािरण बनाता है। 

Q.13) Differentiate between self pollination and cross pollination. 
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  स् िपरागण एिं परपरागण में अन् तर यिखिए।  

Ans.) Difference between self pollination and cross pollination. 

  स् िपरागण एिं परपरागण में अन् तर। 

Sr. No. Self Pollination Cross Pollination 

1. In self pollination pollen grain of a 

flower are transferred to the stigma of 

same flower or some other flower borne 

by same plant or to the stigma of a 

genetically identical plant. 

In cross pollination pollen grains of 

flowers are transferred to the stigma of 

a flower borne by another plant of the  

same species. 

2. No pollinators needed and less wastage 

of pollens. 

Pollen agents are needed and there is 

more wastage of pollens. 

3. Flowers are bisexual and anthers and 

stigma mature at the same time. 

Flowers be may unisexual or bisexual.  

They are variously adapted to check 

self pollination. 

4. Seed formed are small and plants weak. 

e.g., Pea 

Seeds, hybrid Salvia plants vigour.  

show 

 

   

क्र.सं. स् िपरागण परपरागण 

1. स्ि-परागण में एक फूि के दाने उसी 

फूि के ियतधकाग्र या उसी पौधे के द्वकसी 

अन्य फूि के ियतधकाग्र या आनुिंयशक 

रूप से समान पौधे के ियतधकाग्र में 

स्थानांतररत हो जाते हैं। 

पर परागण में फूिों के परागकणों 

को दसूरे पौधे िारा िहन द्वकए गए 

फूि के ियतधकाग्र में स्थानांतररत 

कर द्वदया जाता है 

एक ही प्रजायत। 

 परागणकों की आिश्यकता नहीं है और 

परागों की बबाधदी कम है। 

पराग एजेंटों की आिश्यकता होती 

है और पराग का अयधक अपव्यय 

होता है। 
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 फूि उभययिंगी होते हैं और परागकोश 

और ियतधकाग्र एक ही समय पर 

पररपक्ि होते हैं। 

फूि उभययिंगी या उभययिगंी हो 

सकते हैं। 

स्ि-परागण की जाँच के यिए इन्हें 

वियभन्न प्रकार से अनुकूयित 

द्वकया जाता है। 

 बनने िािे बीज छोटे और पौधे कमजोर 

होते हैं। जैसे, मटर 

बीज, संकर साखल्िया पौधे ताक़त। 

प्रदशधन 

 

Q.14) Explain the various essential adaptations, to ensure self-pollination.  

  स्िपरागण के यिए आिश्यक अनुकूिन तथा इसके िाभ एिं हायनयों समझाइए। 

Ans.) Essential conditions (adaptations) to ensure self-pollination. 

  (i) Most of the flowers are bisexual. If the flowers are unisexual they are present in a monoecious plant 

(both male and female flowers are found on same plant).  

  (ii) Both male and female reproductive parts mature simultaneously.  

  (iii) The structure and orientation of stamen and stigma is adapted -for self pollination.  

  (iv) In cleistogamous flowers like commelina flowers remain closed to ensure pollination. 

  स्िपरागण के यिए आिश्यक पररखस्थयतयाँ (अनकूुिन)स्िपरागण की द्वक्रया को सफि बनाने के यिए 

अनयिखित अनुकूिन पाए जाते हैं- 

  (i) पुष्प अयधकतर द्वियिंगी होते हैं अथिा जब एकयिंगी होते हैं तो नर और मादा पुष्प एक ही पौधे पर 

होते हैं। 

  (ii) नर और मादा जनन भाग एक साथ पररपक्ि होते हैं। (समकािपक्िता) 

  (iii) पुंकेसर और स्त्रीकेसर इस प्रकार खस्थत होते हैं द्वक परागकण आसानी से ियतधकान पर पहँुच सकें । 

स्िपरागण के िाभ स्िपरागण से यनम्नयिखित िाभ होते हैं 

  (1) स्िपरागण के यिए दसूरे पुष्पों पर यनभधर नहीं रहना पड़ता।  

  (2) स्िपरागण में पौधों को अयधक परागकणों की आिश्यकता नहीं पड़ती है। 
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  (3) स्िपरागण से बन ेबीज शुर्द् नस्ि के होते हैं और सन्तयत पौधे पैतकृ पौधों के समान िक्षणयुि होते 

हैं। 

  (4) स्िपरागण में पुष्पों को परागण के यिए कीटों या अन्य द्वकसी साधन की आिश्यकता नहीं होती खजस 

कारण इन पुष्पों का रंग, सुगन्ध अथिा मधु उत्पन्न करने की आिश्यकता नहीं होती। । स्िपरागण से 

हायनयाँ स्िपरागण से यनम्नयिखित हायनयाँ होती हैं 

  (1) स्िपरागण से उत्पन्न बीजों से बने पौधे दबुधि होते हैं। 

  (2) स्िपरागण से उत्पन्न बीज संख्या में कम, भार में हल्के तथा आकार में छोटे होते हैं। 

  (3) अगिी पीढी में कोई सुधार नहीं होता। 

  (4) ऐसे बीज उत्तम शे्रणी के नहीं होते खजसके कारण नई जायतयों की उत्पवत्त नहीं हो सकती। 

  (5) सन्तयत में रोग-प्रयतरोधक क्षमता पीढी दर पीढी कम होती जाती है। 

Q.15) Describe germination of seeds and types of germination with the help of examples.  

  बीजों के अंकुरण तथा उनके अंकुरण के प्रकारों को उदाहरण सद्वहत यिखिए। 

Ans.) Germination of Seeds: The embryo is present in a seed in an inactive form, During favourable conditions 

the embryo- becomes active, absorbs lots of water and forms a seedling. During this process the radicle 

and plumule come out through its ruptured seed coal. This process is called seed germination.  

  Types of germination  

  (a) Hypogeal germination: In hypogeal germination the growth of hypocotyl ceases and epicotyl 

increases in length, but cotyledons remain below the soil surface. It is found in pea and gram.  

  (b) Epigeal germination: It is shown by groundnut beans, etc. In this process hypocotyl increases quickly 

taking the cotyledons above the surface of soil. There is a special type of germination known as vivipary. 

In this type of germination the germination of seed starts when its fruit is still attached to the mother plant. 

The radicle grows and seed falls on the ground in a dart like manner. This mechanism ensures the 

establishment of seed in the soil. 

  बीज अंकुरण-बीज में भ्रूण यनखष्क्रय अिस्था में होता है। अनुकूि पररखस्थयतयों (िायु, जि ि उयचत ताप 

की उपखस्थयत) में भ्रूण जागतृ होकर सद्वक्रय अिस्था में आ जाता है और नये पादपक (seedling) का 

यनमाधण करता है। इस द्वक्रया को अंकुरण कहते हैं। 

  अंकुरण के प्रकार-अंकुरण तीन प्रकार का होता है- 
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   1. अधोभूयमक अंकुरण-इसमें बीजपत्रोपररक के िवृर्द् करने से प्रांकुर बाहर यनकि आता है और बीजपत्र 

भूयम में ही दबे रह जाते हैं। जैसे-चना, मटर, मक्का आद्वद में। 

  2. उपररभयूमक अंकुरण-इसमें बीजपत्राधार के िवृर्द् करने के कारण बीजपत्र तथा प्रांकुर भूयम से बाहर 

यनकि आते हैं; जैसे-सरसों, इमिी, सेम, रेंडी आद्वद में। 

  3. वपतसृ्थ या जरायुज अंकुरण-इसमें बीज का अंकुरण फि में उसी समय हो जाता है जब फि मात ृपौधे 

पर िगा होता है। अंकुररत बीज का मूिांकुर िवृर्द् करके मूसि जैसी रचना बनाता है। निोवद्भद मिूांकुर 

के भार के कारण पौधे से पथृक् होकर दिदि में फंस जाता है। इस प्रकार का अंकुरण ििणोवद्भद पौधों 

में पाया जाता है; जैसे-राइजोफोरा। 

Q.16) Describe asexual reproduction in Planaria by regeneration.  

OR What would be the result of cutting Planaria or Hydra in many pieces? Describe that process.  

  प्िैनेररया में पुनरुद्भिन िारा अिैंयगक जनन का िणधन कीखजए। 

अथिा प्िैनेररया अथिा हाइड्रा को कई टुकड़ों में काटने का क्या पररणाम होगा? उस द्वक्रया का िणधन कीखजए। 

Ans.) Regeneration in Planaria: Regeneration is an important method of development of lost body parts in 

some animals like Planaria and Hydra. If their body is cut into pieces then each part develops into whole 

new individual. This process is called regeneration. In this process the undifferentiated cells divide and 

undergo differentiation to compensate the lost part. In regeneration the body is cut accidentally while 

fragmentation is a natural process. 

   

  It is important here to note that regeneration is not exactly the as reproduction. This is so because animals 

do not depend on accidental cut to be able to reproduce.  

  प्िैनेररया में पुनरुद्भिन-प्िैनरेरया या हाइड्रा को यद्वद अनेक भागों में काट द्वदया जाए तो प्रत्येक भाग 

(टुकड़ा) विकयसत होकर पूणध जीि का यनमाधण कर देता है। इस प्रद्वक्रया को पुनरुद्भिन (regeneration) 
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कहते हैं। पुनरुद्भिन की द्वक्रया में जीिधारी में पायी जाने िािी अवियशष्टीकृत कोयशकाएँ कोयशका विभाजन 

एिं विभेदीकरण िारा क्षतभागों की पूयतध करती हैं। यह प्रद्वक्रया बहुत सुव्यिखस्थत तरीके से होती है तथा 

पररिधधन (development) का ही रूप है। 

Long Answer Type Questions (विस् तृत उत्तरीय प्रश् न) 

 

Q.1) Describe the causes of quick increase of population in India and the measures of family planning. 

  भारतिषध में जनसंख् या बढोतरी के कारण तथा पररिार यनयोजन के उपायों का िणधन कीखजए।  

Ans.) Causes of Rapid Increase in Population  

  Following are the important causes of population explosion or rapid population growth :  

  (i) Decreased maternal mortality rate (MMR) and infant mortality rate (IMR).  

  (ii) Tremendous increase in birth rate and reduction in death rate, better medical care.  

  (iii) Early marriage. 

  (iv) Other reasons are ignorance, illiteracy, social belief, superstitions, desire to have male child.  

  (v) Immigration (entry of people from other areas).  

  Human Population: Number of individuals in a given area (district/ state/ country, etc.) at a particular 

time (year/decade/ century) is known as population.  

  Population Growth: Population growth is a change in population size during a fixed time interval. It can 

be shown by (birth + immigration) — (death + emigration).  

  Family Planning: Family planning is an ambitious programme of government of India which was started 

in the year 1951, to put a check on rapidly increasing population.  

  This programme is now known by the name Family Welfare. The main objective of this programme is 

to motivate the people to keep the size of family small, reduce maternal and infant mortality rate, to check 

female foeticide. Use contraceptives and thus help in population control. 

  Contraceptive (Birth Control) Methods  

  These methods either check the gamete transfer, inhibit fertilization or check conception. Therefore, they 

do not allow pregnancy and child birth. Various contraceptive methods are ;  

  (A) Barrier Methods: Condom, diaphragm cervical caps. (In this method gametes are checked to meet.)  

  (B) Contraceptive Pills: Hormonal pills which do not allow development of egg. These oral pills check 

ovulation.  

  (C) Intrauterine devices: Like copper T, these IUDs are inserted in reproductive tract of a female by a 

doctor or trained nurse. Hormonal IUDs are also available. They may have some side effects also. These 

all are temporary methods.  
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  (D) Permanent method/surgical method: These methods, are based on blocking the transfer of gametes.  

  (i) Vasectomy: In this method, used for males, a small part of vas deferens is cut and both the cut parts 

are blocked. This blocks the pathway of sperms.  

  (ii) Tubectomy: This technique is used for females. In this method the fallopian tubes are cut; and ligated. 

It prevents the movement of egg to the site of fertilization. These methods are very effective but their 

reversal is-very difficult. 

  जनसंख्या िवृर्द् द्वकसी स्थान विशेष पर द्वदए गए समय पर उपखस्थत कुि व्यवियों की संख्या उस स्थान 

की जनसंख्या कहिाती है। इकाई समय में व्यवियों की संख्या में होने िािी िवृर्द् ही जनसंख्या िवृर्द् कही 

जाती है। 

  जनसंख्या िवृर्द् के कारण-जनसंख्या िवृर्द् के यनम्नयिखित कारण हैं- 

  1. यनम्न सामाखजक स्तर-हमारे देश की जनता का रहन-सहन यनम्न स्तर का है। ग्रामीण क्षेत्रों में रहने 

िािी अयधकांश जनता यनधधन है। िह इस बात में विश्वास करती है द्वक खजतने अयधक बच्चे होंगे, ि ेकाम 

करके अयधक धनोपाजधन करेंगे। अत: यनधधन पररिार के िोग जनसंख्या यनयन्त्रण पर ध्यान नहीं देते हैं। 

  2.यनरक्षरता यनरक्षर िोग छोटे पररिार के महत्त्ि को नहीं जानते हैं, इस कारण से अज्ञानतािश यनरन्तर 

सन्तानोत्पवत्त होती रहती है। 

  3. कम आयु में वििाह-ग्रामीण तथा अयशखक्षत पररिारों में आज भी बाि-वििाह की प्रथा का प्रचिन है। 

कानूनी प्रयतबन्धों के बािजूद कम आयु में ही अनके वििाह सम्पन्न हो जाते हैं खजनके कारण कम आयु 

में ही िे दम्पयत सन्ताने उत्पन्न करने िगते हैं। 

  4. मतृ्यु-दर में यनरन्तर कमी-आधुयनक यचद्वकत्सा सुविधा के फिस्िरूप मतृ्यु-दर में कमी आयी है। इसके 

विपरीत जन्म-दर में िांयछत कमी नहीं आ पायी है। जनसंख्या यनयखन्त्रत करने के उपाय (पररिार 

यनयोजन) पररिार यनयोजन कायधक्रम को अब पररिार कल्याण (Family welfare) नाम से जाना जाता है। 

इस कायधक्रम के िक्ष्य हैं- (1) जनन स्िास््य (reproductive health) के िक्ष्यों को प्राप्त करना। 

  (2) जनसंख्या सीयमत करने हेतु गभधयनरोधक वियधयों का प्रचार प्रसार ि इन सुविधाओं को उपिब्ध कराना। 

  (3) पररिार सीयमत रिना।  

  (4) यौन संचररत रोगों की रोकथाम ि यनयन्त्रण।  



Class – X | Biology (Practice Sheet) 

24 | P a g e  
 

  (5) मात ृमतृ्युदर, यशशु मतृ्युदर दर कम करना। (6) कन्या भ्रूण हत्याओं पर प्रभािी रोक िगाना। 

  पररिार सीयमत रिने हेतु गभध यनरोधकों का प्रयोग द्वकया जाता है। यह वियधयाँ िास्ति में गभधधारण 

रोकने की वियधयाँ है 

  (a) अिरोधक वियध (b) रासाययनक वियध (c) गभध यनरोधक अन्त:गभाधशयी युवि (d) शल्य द्वक्रयावियध 

(स्थायी गभध यनरोध)। 

  (a) अिरोधक वियध (Barrier Method)-यह गभध यनरोध का याखन्त्रक भौयतक उपाय है खजसके िारा नर ि 

मादा युग्मकों को आपस में यमिने से रोक द्वदया जाता है; जैसे-पुरुषों के यिए यनरोध (condom), खस्त्रयों के 

कण्डोम, सरिाइकि कैप। यह यौन संचाररत रोगों से भी सुरक्षा प्रदान करता है। 

  (b) रासाययनक वियध (Chemical Method)-यह यिंग ह मोन आधाररत िान ेकी गोयियाँ (oral pills) है, जो 

अण्डोत्सगध प्रद्वक्रया को रोक देती है। अत: अण्ड की अनुपखस्थयत में यनषेचन नहीं होता। 

  कुछ शुक्राणुनाशक क्रीम, फोम, जेिी रसायन आधाररत यनयन्त्रण है। इनका प्रयोग योयन में द्वकया जाता है। 

  (c) गभध यनरोधक अन्तःगभाधशयी युवि (Intra Uterine Contraceptive Device IUCD/IUD)-यह युवि 

प्रयशखक्षत नसध या ड क्टर िारा जनन पथ या गभाधशय में िगाई जाती है। क पर T (Copper T) इस प्रकार 

की सामान्य यवुि है। इस प्रकार की ह मोनि युवियाँ भी उपिब्ध हैं। इनके कुछेक दषु्प्रभाि हो सकते हैं। 

  (d) शल्य द्वक्रयावियध (स्थायी गभध यनरोध) इसकी यनम्नयिखित वियधयाँ हैं- 

  1. पुरुष का ऑपरेशन या िैसेक्ट मी (Vasectomy)-यह शुक्र नयिका (vas deferens) का बहुत ही साधारण 

ऑपरेशन है। इसमें शुक्रिाद्वहयनयों को काटकर बाँध द्वदया जाता है। इसके उपरान्त गभधधारण का भय नहीं 

रहता है। 

  2. मद्वहिा का ऑपरेशन या ट्यूबेक्ट मी (Tubectomy)-यह मद्वहिाओं के यिए पररिार यनयोजन का स्थायी 

उपाय है। इसमें ऑपरेशन करके फैिोवपअन नयिकाओं को काटकर बाँध द्वदया जाता है। इस प्रकार 

अण्डाणुओं का यनमाधण होता रहता है तथा माहिारी चक्र भी सामान्य रूप से चिता रहता है, द्वकन्तंु अण्डाणु 

फैिोवपअन नयिका से आगे नहीं पहंुच पाते हैं। 
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Q.2) Describe the disadvantages due to population growth and also describe the various measures to 

control over population growth.  

  जनसंख्या िवृर्द् के कारण होने िािी हायन तथा जनसंख्या िवृर्द् रोकने के यिए द्वकए गए उपायों का िणधन 

कीखजए। 

Ans.) Disadvantages of Population Growth (Consequences/Problems) The economy of our country is being 

affected in almost every field due to the population growth. Every country has a limited natural and other 

resources. Following are the disadvantages of rapid population growth: 

  (i) Problem in food supply: We are facing the problem of enough food supply due to population growth. 

The production of food is far less than the increase of population and hence the availability of food material 

for people is less than required. Children are facing the problem of malnutrition.  

  (ii) Problem of Education System: It has become difficult for children to get admission in educational 

institutions due to the rapid increase of population. Classrooms, furniture and play grounds in the schools 

are not enough for all school-goers.  

  (iii) Problem of Employment: Today unemployment is a major issue and* it occurs due to the population 

growth. Criminal tendency is also increasing day-by-day and the population growth is also responsible for 

that.  

  (iv) Problem in Health and Medical Services: If a family has more kids, it affects the health of the 

mother and children. In our country, the number of hospitals and the medical facilities are not enough.  

  (v) Problem of Shelter: Due to the population growth people are bound to live on footpaths, dirty slum 

places. People are facing many diseases by living in such unhygienic places. 

  Control on Population Growth  

  (i) Legal arrangement: Some countries have strict rules against population growth. It is the demand of 

time that governments make the laws to limit the-families and enforce them effectively.  

  (ii) Education system: The programmes to limit the population growth and families must gun effectively 

to educate the people.  

  (iii) Economic reform: If people found proper jobs and businesses, then they can improve their social 

and economic status. With an improved economic status, a person is able to think for a better future sand 

keep his family small.  

  (iv) Programmes related to family welfare: There must be some arrangements to create interests 

between people about the usefulness of small families. These arrangements may be like free education to 

the children of small families, free medical facilities, preference in government jobs etc.  

  (v) Small families: Population control is actually a public welfare program-that means 'Small family is a 

happy family. Ali married couple should limits their family upto 1-2.  
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  (vi) Health and sex Education: It should be compulsory to include the sex education in the curriculum 

of boys and girls in their early education.  

  (vii) Family Planning (Family Welfare): Public welfare and population are just two faces of a coin. 

Family planning is the most effective method to control the population growth. 

  जनसंख्या िवृर्द् के कारण एिं हायनयाँ-  

  (दषु्पररणाम/समस्याएँ) जनसंख्या िवृर्द् देश के आयथधक विकास के हर क्षेत्र में अिरोध उत्पन्न कर रही 

है। प्राकृयतक सम्पदा तथा द्वकसी भी देश के ससंाधन सीयमत होते हैं। जनसखं्या िवृर्द् के कारण हम 

सामाखजक और आयथधक रूप से वपछड़ रहे हैं। जनसंख्या िवृर्द् के कारण यनम्नयिखित समस्याएँ उत्पन्न 

हो रही हैं- 

   1. िाद्य आपूयतध की समस्या-जनसंख्या िवृर्द् के कारण हमारे देश के समक्ष िाद्य आपूयतध की समस्या 

उत्पन्न हो गई है। जनसंख्या की िवृर्द् के अनुपात में िाद्यान्नों का उत्पादन कम हो रहा है खजससे िोगों 

को िाद्य सामग्री कम मात्रा में उपिब्ध हो पा रही है। 

  2. यशक्षा व्यिस्था की समस्या-यशक्षण संस्थाएँ कम होने से बढती हुई आबादी के कारण बच्चों को पढाई 

के यिए प्रिेश पाना कद्वठन हो रहा है। विद्याियों के कमरे, फनीचर और िेि के मैदान बढती जनसंख्या 

के यिए पयाधप्त नहीं हैं। 

  3. रोजगार की समस्या-जनसखं्या के बढने से बेरोजगारी की समस्या भी बढती जा रही है। बेरोजगारी के 

कारण व्यवियों में अपराध की प्रिवृत्त यनरन्तर बढ रही है। 

  4. स्िास््य एिं यचद्वकत्सा सेिा समस्या-पररिार में अयधक बच्चे होने स ेमा ँका स्िास््य िराब हो जाता 

है खजसस ेबच्चों की उयचत देिभाि न होने से िे बीमार और दबुधि हो जाते हैं। हमारे देश में अस्पतािों 

की कम संख्या के साथ-साथ उनमें पयाधप्त औषयधयाँ भी उपिब्ध नहीं हो पाती हैं। 

  5. आिास की समस्या-बढती हुई जनसंख्या के कारण द्वकतने ही व्यवियों को फुटपाथों, गन्दी ि अधेँरी 

झुग्गी-झोपद्वड़यों में रहना पड़ता है। गन्दे स्थानों पर रहने से अनेक बीमाररयां फैिती हैं। 

  जनसंख्या िवृर्द् पर यनयन्त्रण-  

  1. कानूनी व्यिस्था-थाईिैण्ड, चीन, खस्िट्जरिैण्ड, द्वफिीपीन्स आद्वद देशों की तरह हमारे देश में भी जनसंख्या 

यनयन्त्रण के यिए सवंिधान में कठोर कानूनी व्यिस्था होनी चाद्वहए। 
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  2. यशक्षा व्यिस्था-जनसंख्या िवृर्द् को रोकने तथा पररिार को सीयमत करने के सम्बन्ध में जनता को 

यशखक्षत करने के कायधक्रम में तेजी िानी चाद्वहए। 

  3. आयथधक खस्थयत में सुधार-िोगों को उयचंत रोजगार तथा व्यिसाय यमिने चाद्वहए, खजससे आयथधक स्तर 

में सुधार हो सके। आयथधक खस्थयत सुदृढ होने से व्यवि अपने बच्चों के अच्छे भविष्य के बारे में सोचता 

है और पररिार को सीयमत रिता है। 

  4. पररिार कल्याण सम्बन्धी कायधक्रमों को बढाना-पररिार को सीयमत रिने के यिए कुछ ऐसी व्यिस्था 

होनी चाद्वहए खजससे पररिार सीयमत रिने के कायधक्रमों में िोगों की रुयच बढे; जैस-ेसीयमत पररिार िािे 

व्यवियों के बच्चों की यनःशुल्क यशक्षा, मुफ्त इिाज की व्यिस्था, सरकारी नौकररयों में प्राथयमकता आद्वद 

की सुविधा। 

  5. सीयमत पररिार-जनसंख्या यनयन्त्रण में ही जनकल्याण यनद्वहत है अथाधत ्'छोटा पररिार ही सुिी पररिार' 

हो सकता है। यद्वद प्रत्येक वििाद्वहत जोड़ा 1-2 बच्चों तक पररिारों को सीयमत कर िे तो जनसंख्या में 

प्रभािी कमी हो जाएगी। 

  6. स्िास््य एिं यौन यशक्षा-बािक/बायिकाओं के यिए द्वकशोरािस्था से ही पाठ्यक्रम में स्िास््य एिं यौन 

यशक्षा को अयनिायध कर देना चाद्वहए खजससे िे अपने स्िास््य पर पूरा ध्यान दे सकें । 

  7. पररिार यनयोजन (पररिार कल्याण)-जनकल्याण तथा जनसंख्या दोनों एक ही यसक्के के दो पहि ूहैं। 

जनसंख्या िवृर्द् को रोकने का सिोत्तम एिं सरितम उपाय पररिार यनयोजन है। 

Q.3) Define pollination. Briefly describe the various methods of cross pollination. Explain its significance also.  

  परागण की पररभाषा यिखिए। परपरागण की वियभन्न वियधयों का संखक्षप्त वििरण दीखजए। इसके महत्त्ि 

को समझाइए। 

Ans.) Pollination: 

  Transfer of pollen grains from the anther of a flower to the stigma of the same flower or any other flower 

of the same species is called pollination.  

  Methods of Cross Pollination  

  (A) By abiotic agents  

  (i) By wind (Anemophily) : Maize, wheat, grasses, Flowers. are not showy, non-scented and do not 

produce nectar.  
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  (ii) By water (Hydrophily) : Vallisneria, Ceralophyllum.  

  (B) By biotic agents  

  (i) By insects (Entomophily) : Saliva, mustard  

  (ii) By birds (Ornithophily) : Böttle brush  

  (iii) By Bat (Chiropterophily) : Adansonia, Kigelia.  

  Significance of cross pollination: (i) Seeds or progeny shows hybrid vigour and are healthy. (ii) It leads 

to more variations. Variations are foundation of organic evolution. They increase chances of survival also.  

  (iii) It is useful in breeding experiment to develop new high yielding and disease resistant varieties. 

Germination of Pollen Grain At the time of pollination the pollen is usually two celled structure. After 

reaching stigma it gets favourable condition and absorbs water. The thin delicate intine of the pollen grain 

comes out in the form of pollen tube through germ pore. 

    

  The contents of the pollen grain move into pollen tube. It has two male nuclei in it. The tube penetrates 

the style and moves through it. 

  परागण (Pollination)-एक पुष्प के परागकण जब उसी जायत के पुष्प के ियतधकान पर पहंुचते हैं तो इस 

द्वक्रया को परागण कहते हैं। 

  परपरागण की वियधयाँ (Methods of Cross Pollination)-पौधों में परपरागण कीटों, िायु, जि एिं जन्तुओं 

िारा होता है। 

  1. कीटों िारा परागण (Entomophily)-इसके यिए विशेष युवियाँ जैसे-पुष्पों में रंग, सुगन्ध, मकरन्द आद्वद 

की उपखस्थयत कीटों को आकवषधत करने के यिए अपनायी जाती है। कीट परायगत पुष्प बडे़ ही आकषधक ि 

भड़कीिे होते हैं। इन पुष्पों के ियतधकान प्राय: यचपयचपे होते हैं। उदाहरण-अंजीर, गूिर, पीपि, आक, साखल्िया 

आद्वद में। 
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  2. िायु िारा परागण (Anemophily)-अनेक पौधों में िायु िारा परागण होता है। इसके यिए अनेक युवियाँ 

पायी जाती हैं; जैसे-पुष्प प्रायः छोटे और समूह में िगे होते हैं। पुष्पों में सुगन्ध, मकरन्द और रंग का 

अभाि होता है। ियतधकान िुरदरे होते हैं, परागकण हल्के और शुष्क होते हैं। उदाहरण-गेहँू, मक्का, ज्िार 

आद्वद में। 

  3. जि िारा परागण (Hydrophily) जि-यनमग्न पौधों में जि परागण होता है। जि परागण के यिए 

पुष्पों, परागकणों, ियतधका, ियतधकान आद्वद में अनेक अनुकूिन पाए जाते हैं। परागकण हल्के होते हैं, इनका 

घनत्ि इतना होता है द्वक ये जि में उसी स्तर पर तैर सकें , जहाँ मादा पुष्प के सम्पकध  में आ सकें । अनेक 

पुष्पों के िनृ्त सीधे होकर परागकणों को ग्रहण कर िेते हैं। उदाहरण-िैयिसनेररया (Vallisneria), इिोद्वडया 

(Elodea), हाइद्वड्रिा (Hydrilla), यसरेटोद्वफल्िम (Ceratophyllum) आद्वद में।। 

  4. जन्तु परागण (Zoophily)-कुछ पौधों में क्रागण घोंघों, पखक्षयों, चमगादड़ आद्वद की सहायता से होता है; 

जैसे-समेि, वबगोयनया, कदम्ब आद्वद में। 

  परपरागण का महत्त्ि-(1) इसस ेउन्नतशीि प्रजायतयों विकयसत होती हैं। यह जैि विकास का आधार है।  

(2) वियभन्नताओं के कारण उच्च गुण िािे स्िस्थ बीज प्राप्त होते हैं जो संकर ओज को प्रदयशधत करते हैं। 

(3) पादप प्रजनन में परपरागण के फिस्िरूप उच्च उत्पादक ि रोगप्रयतरोधी प्रजायतया ँविकयसत होती हैं। 

इनकी प्रयतरोधक क्षमता अयधक होती है। (4) परपरागण िारा उत्पन्न जननक्षम पौधे विकयसत होते हैं। 

परागकण का अंकरण ियतधकान से सामान्यत: एक तरि पदाथध स्रावित होता है खजसमें प्रायः शकध रा जैसे 

रसायन होते है। तरि पदाथों को अिशोवषत करके परागकण फूिने िगता है। 

  अन्तःचोि (intine) जनन यछरों (germ pore) से पराग नयिका (pollen tube) के रूप में बाहर यनकि आता 

है। पराग नयिका में जनन केन्रक तथा िषी केन्रक आ जाते हैं। पराग नयिका िवृर्द् करके ियतधकाग्र, 

ियतधका से होती हुई अण्डाशय में खस्थत बीजाण्ड में प्रिेश कर जाती है। पराग नयिका में जनन केन्रक 

सूत्री विभाजन से विभाखजत होकर दो नर युग्मक (male gametes) बनाता है। पराग नयिका नर युग्मकों 

को बीजाण्ड के भ्रूण कोष में पहंुचाती है। 
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Q.4) Write a note on sexual reproduction in angiosperms. 

  आितृबीजी पौधों में िैंयगक जनन पर द्वटप्पणी यिखिए। 

Ans.) Sexual Reproduction in Flowering Plants or Angiosperms: Flower is the reproductive part of an 

angiosperm plant. This modified shoot has distinct male and female parts. The male part is known as 

stamen whereas the female part is known as- carpel. Most of the flowers are bisexual or hermaphrodite, 

but unisexual flowers are not rare. 

  A flowering plant is diploid. Haploid pollen grains are produced by reduction division of meiosis in anther 

part of a stamen. Later, male gamete are produced inside the pollen grainS. Formation and fusion Jf 

gametes (fertilization) is an essential part of sexual reproduction. It means meiosis and fertilization are 

two essential parts of sexual reproduction. Each female part of the flower or carpel consists of three parts—

lower smaller part ovary, middle tubular style and vppar slightly broader part stigma.  

  The ovary has one or more ovules. In plants the female gamete or egg is produced in ovule only. In the 

process of pollination, the pollen grains produced in anthers are transferred to stigma. The male gamete 

produced by pollen grain in carried upto egg Cell by pollen tube made by pollen grain. During fertilization 

or syngamy the male gamete fuses with female gamete (egg) to produce diploid zygote.  

  The zygote forms an embryo by cell division, growth and development. After fertilization the ovules are 

converted into seeds. In the seeds, the embryo remains protected by tough seed coats. Seeds have some 

reserve food also which helps in germination of the seeds. The ovary of the flower turns into fruit after 

fertilization, and houses the seeds. After germination the seeds form a new plant. 

  आितृबीजी (पुष्पी) पौधों में िैंयगकजनन [Sexual Reproduction in Angiosperms (Flowering Plants)]-

आितृबीजी पादपों में पुष्प प्रजनन अंग होता है। पुष्प में जनन हेतु नर ि मादा भाग पाए जाते हैं। नर 

भाग पुंकेसर (stamen) तथा मादा भाग अण्डप (carpel) कहिाता है। अयधकांश पुष्प द्वियिंगी (bisexual) 

होते हैं िेद्वकन कुछ पौधों में एकयिंगी (unisexual flowers) पाए जाते हैं। 

  पुंकेसर के परागकोश (anther) में अर्द्धसूत्री विभाजन िारा अगुखणत परागकणों (pollen grains) का यनमाधण 

होता है। बाद में परागकणों के अन्दर नर युग्मक (male gametes) बनते हैं [युग्मकों का संियन ि अर्द्धसूत्री 

- विभाजन िैंयगक जनन के अपररहायध अंग हैं। 

  प्रत्येक अण्डप में तीन भाग होते हैं-नीचे का फूिा भाग अण्डाशय (ovary), बीच का नयिका जैसा भाग 

ियतधका (style) तथा ऊपर का घुण्डी जैसा भाग ियतधकाग्र (stigma)। 
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  अण्डाशय में एक या अयधक बीजाण्ड (ovule) पाए जाते हैं। पादपों में अण्ड कोयशका या मादा युग्मक 

(female gamete) इसी बीजाण्ड में खस्थत होती है। 

  परागण (Pollination) की द्वक्रया में परागकण परागकोश से ियतधकान तक स्थानान्तररत होते हैं। परागकण 

में खस्थत नर युग्मक पराग नयिका िारा अण्ड कोयशका तक पहंुचता है। यनषेचन की द्वक्रया में पराग 

नयिका से मुि नर युग्मक, अण्ड कोयशका से सिंययत होकर युग्मनज (zygote) का यनमाधण कर देता है। 

युग्मकों का यनमाधण ि यनषेचन िैंयगक जनन का प्रमुि गुण है। युग्मनज िवृर्द् ि विकास िारा भ्रूण 

(embryo) बनाता है। 

  यनषेचन के उपरान्त बीजाण्ड बीज में पररियतधत हो जाता है। बीज में भ्रूण, बीजािरण िारा सुरखक्षत रहता 

है। इसी में कुछ िाद्य संचय होता है जो बीज के अंकुरण में सहायता करता है। पुष्प का अण्डाशय 

यनषेचनोपरान्त फियभवत्त में बदि जाता है, खजसमें बीज सुरखक्षत रहते हैं। बीज अंकुरण करके नए पौधे 

को जन्म देता है। 

Q.5) What is fertilization? Explain fertilization and post fertilization changes of a flower. 

  यनषेचन द्वकसे कहते हैं, यनषेचन एिं यनषेचनोपरान् त पुष् प में होने िािे पररितधनों को समझाइए।  

Ans.) Pollination: Transfer of pollen grains from the anther of a flower to the stigma of the same flower or any 

other flower of the same species is called pollination. Fertilization The pollen tube after entering the ovule 

releases two male nuclei in the embryo sac. One male nucleus fuse with the egg cell to form diploid the 

zygote. This -process is called syngamy. Later the zygote form an embryo.     

  Post Fertilization Changes  

  Flowers are regarded as modified shoot meant for reproduction. After fertilization the ovary of the flower 

is converted into a fruit. It contains seeds also which developer from ovules.  

  Following changes takes place in a flower after fertilization:  

  Sepals: Wither away. In some fruits like brinjal, tomato etc., the sepals are persistant.  

  Petals: Dry out and fall  

  Stamens: Wither away.  

  Stigma and style: Wither away.  

  Ovary: Swells up and converted into fruit the wall of the ovary forms the pericarp (3 layered)  

  Ovule: Converted into seed  

  Micropyle: Remains micropyle  

  Integnment: Seed coat 
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  परागण-एक पुष्प के परागकण जब उसी जायत के पुष्प के ियतधकान पर पहँुचते हैं तो इस द्वक्रया को 

परागण कहते हैं। 

  यनषेचन-जनन की िैंयगक वियध का प्रमुि गुण युग्मकों का यनमाधण ि सिंयन होता है। युग्मकों के सिंयन 

से युग्मनज या जाइगोट (Zygote) का यनमाधण होता है। नर ि मादा युग्मकों का संियन यनषेचन कहिाता 

है। 

  यनषेचन के पश्चात ्होने िािे पररितधन (Changes after Fertilisation in Flowering Plants)-यनषेचन के पश्चात ्

होने िािे पररितधनों के कारण बीजाण्ड से बीज और अण्डाशय से फिािरण बनता है। दोनों को सखम्मयित 

रूप से फि कहते हैं। पुष्प में यनम्नयिखित पररितधन होते हैं  

  1. बाह्यदि-प्राय: मुरझाकर यगर जाते हैं। टमाटर, बैंगन, रसभरी आद्वद में फिों में िगे रहते हैं। 

  2. दि-प्राय: मुरझाकर झड़ जाते हैं। 3. पुंकेसर-सूिकर यगर जाते हैं। 4. ियतधकान-सूिकर यगर जाती है। 5. 

ियतधका-मुरझा जाती है। 6. अण्डाशय-फि में बदि जाता है। 

  7. बीजाण्ड-बीज में बदि जाता है। इसमें यनम्नयिखित पररितधन होने से बीज का यनमाधण होता है 

  (क) अण्डिार-बीजिार बनाता है। (ि) बीजाण्डकाय-प्रायः नष्ट हो जाता है।  

  8. अण्डाशय की यभवत्त-फि यभवत्त बनाती है। 
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Q.6) What is meant by vegetative propagation? Describe vegetative propagation shown by various parts 

of the plant. 

  काययक जनन द्वकसे कहते हैं? पौधों के वियभन्न भागों से होने िािे काययक जनन का उल्ििे कीखजए। 

Ans.) Vegetative Propagation: 

  Production of new plants from any vegetative part (root, stem or leaves) of the plant is known as vegetative 

propagation (vegetative the part or bud of the plant from which new plant develops is called propagule. 

Vegetative propagation may be natural or artificial.  

  (A) Natural Vegetative Propagation : When a vegetative part of the plant (root, stem Or leaves) produces 

a new plant naturally, it is called natural vegetative propagation. These parts develop into new plant with 

the help of a propagule. It may be of following types :  

  (i) Vegetative propagation by roots: Roots of same plants bear adventitious buds. During favourable 

conditipns these buds grow to produce new plant. Example : Sweet potato Aspargus, Dahlia, etc.  

  (ii) Vegetative propagation by stems  

  (a) Underground stems: These parts have auxillary buds and they serve as organs of perennation also.  

  Rizome — Ginger, turmeric 

  Tuber  — Potato 

  Corm  — Colocassia, Arvi  

  Bulb  — Onion, garlic  

  (b) Sub aerial stems  

  Runner  — Cynodon (Doob grass) 

  Sucker  — Mint  

  Offset  — Pistia, Eicchornia (water hyacinth) 

  Stolon  — Strawberry  

  (iii) Vegetative propagation by leaves: Margins of some leaves have adventitious buds Bryophyllum, 

Kalanchoe.  

      

  (iv) Vegetative propagation by bulbils: Some buds stores reserve food and turns into bulbils. In Agave 

bulbils are produced by flowers Cycas, Pandanus also produce bulbils.  
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  (B) Artificial Vegetative Propagation: Man has been exploiting this property of vegetative propagation 

for his benefit from the dawn of civilization. Artificial methods of vegetative propagation are:  

  (i) Cutting: Rose, sugarcane, henna (Any vegetative part having propagule can act as cutting).  

  (ii) Layering: Jasmine (A branch is lowered and after rooting detached).  

  (iii) Grafting: Mango, Bougainvillea (Physical and physiological joining of two plants). 

  काययक जनन-पौधों के िषी भागों जैस े जड़, तना, पवत्तयों पर उपखस्थत कयिकाओं िारा नए पादप का 

यनमाधण िषी प्रजनन या काययक जनन कहिाता है। यह अिैंयगक जनन का ही एक रूप है; जैसे-आिू, 

गुिाब, शकरकन्द, ब्रायोद्वफल्िम आद्वद। 

  (क) प्राकृयतक काययक जनन (Natural vegetative reproduction)-पौधों में स्ितः होने िािे काययक जनन 

को प्राकृयतक काययक प्रिधधन कहते हैं। यह अग्र प्रकार से होता है- 

  1. जड़ों िारा काययक प्रिधधन-कुछ पौधों की जड़ों पर अपस्थायनक कयिकाएँ पायी जाती हैं। ये अनकूुि 

िातािरण में नये पौधों का यनमाधण करती है। जैसे-सतािर, डहेयिया, शकरकन्द, आद्वद में। 

  2. प्रकयिकाओं िारा कयिकाएं िाद्य पदाथध का संचय करने के बाद प्रकयिकाएँ (bulbils) कहिाती हैं। ये 

पौधे से पथृक् होकर स्ितन्त्र पौधा बनाती हैं; जैसे-रतािू, केिड़ा आद्वद में। 

  3. भूयमगत तनों िारा-प्रकन्द (rhizome) िारा अदरक, हल्दी, आद्वद में, कन्द (tuber) िारा आिू में, घनकन्द 

(corm) िारा अरबी में और शल्ककन्द (bulb) िारा प्याज में काययक जनन होता है। अनुकूि िातािरण में 

कक्षस्थ कयिकाएँ िवृर्द् करके नया पौधा बनाती हैं। 

  4. अधधिायिीय तनों िारा-उपररभस्तारी; जैसे-दबू घासः अन्तः भूस्तारी; जैसे-पोदीना, भूस्तारी; जसैे-

वपपरयमन्ट, स्राबेरी; भूस्ताररका; जैस-ेजिकुम्भी आद्वद, के तनों स ेबनने िािी शािाएँ पथृक् होकर स्ितन्त्र 

पौधों को जन्म देती हैं। 
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  5. पवत्तयों िारा-कुछ पौधों की पवत्तयाँ भोजन का संग्रह भी करती हैं। इन पौधों की पवत्तयों पर पणध कयिकाएँ 

पायी जाती हैं जो अनुकूि पररखस्थयतयों में नये पौधे को जन्म देती हैं; जैसे-घाि-पत्ता (ब्रायोद्वफल्िम), 

वबगोयनया आद्वद। 

  (ि) कृवत्रम काययक जनन (Artificial Vegetative Reproduction)-पौधों में मनुष्यों िारा कृवत्रम रीयत स े

द्वकए गए काययक जनन को कृवत्रम काययक जनन कहते हैं; जैसे गुिाब, गन्ना, मेंहदी आद्वद में किम 

िगाकर; नींबू, सन्तरा आद्वद में कयिका रोपण (budding) िारा; आम, नाशपाती, अमरूद आद्वद में शािा बन्धन 

(inarching) या गटुी बन्धन (gootee) िारा काययक जनन द्वकया जाता है। 

   

Q.7) Describe the male reproduction organs of human being with the help of a labelled diagram.  

  पुरुष के जनन अंगों का सयचत्र िणधन कीखजए। अथिा मानि के नर जनन तन्त्र का स्िच्छ नामांद्वकत 

यचत्र बनाइए। 

Ans.) Reproductive System of Human Male Human beings are unisexual and sexual dimorphism is well distinct. 

Reproductive organs of male human are, primary reproductive organs, duct system and accessory glands. 

  (a) Primary reproductive organs: Primary reproductive organs of human males are a pair of testes. 

Testes (singular testis) are found in scrotum sac outside the abdomen. Each testis has many seminiferous 

tubules in which sperms are produced.  
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  Another important function of testes is production of male sex hormones. Extra abdominal testes help Lin 

production of sperms, as sperm production needs lower temperature. 

   

  (b) Accessory ducts and glands: Function of these organs is to facilitate the transfer of sperms. Duct 

system include epididyms, vas deferens and urethra. The function of the duct system is to carry the sperms 

from testes to outside the body. The accessory gland are seminal vesicle, prostate and Cowper's gland.  

  (i) Epididymis: Sperms come out from testes through various tubes and reach to a highly coiled duct, 

attached to testes in scrotum. It is called epididyms,  

  (ii) Vas deferens: A comparatively thick muscular tube arises from each epididyms. It ascends up into 

abdomen to open m ejaculatory duct.  

  (iii) Urethra: The seminal vesical opens through an ejaculatory duct into urethra. In human males the 

urethra passes through penis and open at its tip by urino genital aperture.  

  Glands  

   

  (i) Seminal Vesicles: This is a sac like structure which produces seminal plasma. It is a nutritive fluid and 

provides fluid medium for the motility of the sperms.  

  (ii) Prostate gland: It also produces a fluid. Fluid of seminal vesicle and prostatic fluid with sperm form 

semen. 
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  नयिका तन्त्र-इसका कायध िषृण में बने शुक्राणुओ ंको शरीर से बाहर पहँुचाना है।  

  शुक्राणु अनेक नयिकाओ ंमें होते हुए िषृण के बाहर खस्थत एक अयत कुण्डयित नयिका से बन ेएवपद्वडद्वडयमस 

में आते हैं। इसके अखन्तम भाग से एक अपके्षाकृत मोटी शुक्रिाद्वहनी यनकिती है। शुक्रिाद्वहनी उदरगुहा में 

पहंुचकर मूत्राशय से जुड़ा निी मतू्र मागध (urethra) से जुड़ जाती है। मूत्रमागध, मूत्र तथा िीयध दोनों हेतु 

एक साझा मागध है। यह यशश्न के रास्ते शुक्राणुओ ंको शरीर से बाहर पहंुचाता है। 

  (c) सहायक ग्रखन्थयाँ-शुक्राशय (Seminal vesicle) ि प्रोस्टेट ग्रखन्थ के स्त्राि शुक्राणुओ ंको पोषक पदाथध 

तथा तैरने हेतु तरि माध्यम प्रदान करने का कायध करते हैं। इन प्रखन्थयों के स्त्राि शुक्राणुओ ंके साथ 

यमिकर िीयध (semen) का यनमाधण करते हैं। 

Q.8) Describe the female reproductive system of human being with the help of a diagram.  

  स् त्री के जनन अंगों का सयचत्र िणधन कीखजए।  

Ans.) Human Female Reproductive System It also includes primary sex organs ovary and accessory ducts and 

glands. 

        

  (A) Primary Sex Organs - Ovary: There is a pair of ovaries located in the abdominal cavity. The 

germinal cells of ovary produce egg cell by the process of oogenesis.  

  Another important function of ovaries is production of female sex hormones.  

  (B) Accessory ducts and glands: Accessory ducts of female are fallopian tube, uterus and vagina. The 

glands are mammary gland.  

  (i) Fallopian tube (oviduct): It has a funnel shaped mouth situated close to ovary. The margin of this 

mouth has finger like projections called fimbriae. They help in capturing egg. Remaining part of fallopian 

tube is narrow. It is the site of fertilization. 
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  (ii) Uterus: Fallopian tubes of both sides open into a pear shaped muscular bag called uterus. Commonly 

called womb, it is the place where foetus develops. 

  (iii) Vagina: Uterus open into a long muscular tube through a narrow cervix. It opens outside through 

external genital vulva. Bartholin glands produce a mucus like substance. 

  स् त्री (मादा) के जननांग: स् त्री जनन तंत्र में यनखम् न यिित अंग होते हैं- 

  (i) अण्डाशय (Ovary)-स्त्री में प्राथयमक जनन अंग एक जोड़ा अण्डाशय होते हैं। ये अण्डाकार भूरे रंग की 

रचनाएँ हैं तथा उदरगुहा में खस्थत होती हैं। अण्डाशय में अण्ड कोयशका बनती है। नयिका तन्त्र-खस्त्रयों के 

नयिका तन्त्र में फैिोवपयन नयिका, गभाधशय ि योयन सखम्मयित होते हैं। 

  (ii) अण्डिाद्वहनी (Oviduct)-प्रत्येक अण्डाशय के पास ही एक कीप की तरह की रचना, मुखिका होती है, जो 

एक कुण्डयित तथा संकरी अण्डिाद्वहनी या फैिोवपयन नयिका में ििुती है। अण्डाशय स े अण्ड इसी 

मुखिका के िारा नयिका में आता है। फैिोवपयन नयिका में शुक्राणु िारा अण्ड का यनषेचन होता है। 

  (iii) गभाधशय (Uterus)-दोनों ओर की फैिोवपयन नयिकाएँ संयुि होकर पेशीय, नाशपाती के आधार का 

गभाधशय बनाती हैं। यनषेयचत अण्ड गभाधशय में स्थावपत हो जाता है। यहीं इसका विकास होता है। 

  (iv) योयन (Vagina)-गभाधशय का पश्च भाग नयिकारूपी, पेशीय संरचना योयन बनाता है। गभाधशय का िह 

सँकरा भाग जहाँ यह योयन से जुड़ा होता है ग्रीिा (cervix) कहिाता है। स्त्री में सहायक ग्रखन्थयाँ योयन का 

स्नेहन करती हैं। स्तन यशशु के पोषण हेतु दगु्ध यनमाधण करते हैं। 
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